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rettinmml apeed of the armature increases .(fT!Ic phrase back emf is used to indicate
un em! thet tends 10 reduce the supplied current.) Because the voltage available to

supphy current equals the difference between the supply voltage and the back emf,
the current in the rotating coil is limited by the back emf.

When a motor is turned on, there is initially no back emf, thus, the current is
very large because it is limited only by the resistance of the coils. As the coils begin to
rotate, the induced back emf opposes the applied voltage, and the current in the coil
i» reduced. If the mechanical load increases, the motor slows down; this causes the
back emf to decrease. This reduction in the back emf increases the current in the coils
and therefore also increases the power needed from the external voltage source.

For this reason, the power requirements for starting a motor and for running
it are greater for heavy load than for light ones. If the motor is allowed to run under
no mechanical load, the back emf reduces the current to a value just large enough to
overcome energy losses due to internal energy and friction.

If a very heavy load jams the motor so that it cannot rotate, the lack of a back
emf can lead to dangerously high current in the motor’s wire. If the problem is not
corrected, a fire could result.

1. HewEd fagauerh it w1 3w ?
(1) Terah ey fgaare fmfor w
(2) TerEren fagavare g
(3) T &= fFwior Fot
(4) =t It gefat
What is the role of a battery for a motor ?
J})’ To generate a current by rotating a loop
(2) To supply current to the loop
(3) To generate a magnetic field
(4) To supply mechanical energy
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2. Hrewe qr Regrme e w am 7

(1) I Wewn an agal

(2) I deondie fagavame &6
(3) R Jugwm gifyw wrd Fwfn w@
(4) TR dewE fed vhws w4 g

Why is back emf important in a motor ?

(1) It increases the speed of the motor
(2) It reduces the current in the motor
(3) It generates useful mechanical work
(4) It reduces the torque of the motor

3. WA T FAR fAgavar geardien gu 281 w1 @) ?

(1) o A fegame qu weeg s

(2) T FiH WK GY TR A

(3) RV FATE WFR U I A

(4) SRW FgEaTdien waR foemmes T|@a

Why is the current initially very large when a motor is turned on ?
(1) Because the back emf is very strong

(2) Because the mechanical load is very heavy

(3) Because the resistance of the coils is very high

(4) Because there is initially no back emf

4. g1 UM Tt YR e, degt A fagamse v 2 7

(1) o a8 T&d

(2) d ared

(3) « i &

(4) = HITER FEE TR g A

What happens to the back emf, when the mechanical load on the motor increases ?
(1) It remains the same

(2) Itincreases

(3) It decreases

(4) It has no effect on the motor
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8. = e wfafte v zeTm wa wée 7
(1) umaf fagammas amgd
(2) wWen AT | Ted
(3) wmarh frgammrwren sywAYS WiwEE 359 faga vam 013
(4) WEN ®M FO yiwEd

What can happen if a heavy load is given on a running motor ?

(1) The back emf increases

(2) The motor continues to operate normally

(3) The lack of back emf can lead to dangerously high current
(4) The motor stops working

o= T AR N %. 63 10 HtIm wn.
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Read the following passage and answer the questions 6 to 10.

Galileo did not excel in the skill of preparing or reconstructing star-charts.
However  he focused his binoculars towards the skies and offered a natural explanation
of what could be seen. This is what made his astronomy revolutionary. The result
was that man disappeared from the moon and was replaced by mountains. However,
eventually his astronomy became dangerous, because it shook the premises about
the world which were so taken for granted by the powerful classes and the church
which served them. This could potentially challenge the entire social structure. Any
person who dared to do this, had to accept the risk therein.

Science is not just a collection of experimental information. Any given experiment
1s not considered as great, unless it offers a conclusive solution to a controversial
theory. Similarly, unless it offers a plausible explanation to perplexing experimental
data; or it helps predict the conclusions of an experiment which has not yet been done,
the said theory is not considered as a great leap forward. If one wishes to see the tight-
knit interrelationships between science and production; between the ascendance of
new capitalism and the era of local discoveries, one has to study the trajectories along
which the center of science in Europe has shifted. Leeuwenhoek, a gatekeeper in Delft,
sharpened the lens he was using and created the first good microscope out of it. He
used it to observe droplets of water and the small microbes therein. The Royal Society
of London sent its secretary to meet Leeuwenhoek, and published his research articles.
This very society had earlier published Ready’s writings against the school of ‘Arbitrary
Creation’, which eventually helped to solve the very real problem of food-stock. The
idea of giving the credit of an invention to its first author is a comparatively new idea.
Even Newton was averse to the idea of bringing his inventions into the limelight. The
tendency of hiding valuable secrets in the form of monopoly is even more deep rooted
as one travels back in the past. The process changes because of the social nature of
production, however, the tools of production are privately owned and hence, patents,

guilds and monopoly are insisted upon at the level of technique and production
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6. W IaruTEEA qEtR B faur fftmen w2 ¢
(1) cema daa Qremwd adarcars & Fom= HfaTgse mufiEy ywifma &
) =4 R wmur S S e
(3) fawmm wmafe mftdten g=a F@@ A
(4) weherieh woeu anyf AR

Which of the following statements holds true according to the passage ?

(1) Royal Society of London refused to publish the research articles written
by a gatekeeper named Leeuwenhoek

(2) Church served the powerful classes

(3) Science does not include a store of experimental information
(4) The idea of copyright is modern

7. T IAALER 922 9 WeheHI=1 U U A HRoT
(1) fosmma sidm uar 39 &
(2) ITEATE YA @l AT SEdE
(3) Taa WM™ ez qTal <d
44) A w1 ATRdE easdien fred

According to the passage, patent and copyright are insisted upon because
(1) One cannot take any risk in science

(2) Tools of production are privately owned
(3) Royal Society approves the patents
(4) They offer an explanation for perplexing data

8. TEHA FaER wEre faga oo wemmn St ween s
(1) wama wEifes aifedtan =g @
() TS IThF Fx oo
(3) A HIsATT YS! Wifgd e T firesd
(4) @ Toat A 9= gl

When is a theory considered as very important, according to the author ?
(1) It does not contain experimental data
(2) It changes the centre of science
(3) It offers an explanation to perplexing data
(4) It is accepted in the Royal Society
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9. Tafae Eiewra WEEE® H 3F A 7
(1) TN FHHET WgA Aq T
(2) e fxttorge SgETEn Bv@ T gren
(3) wm @mfas vk ¥
(4) weurd e T UEen STETEEe HegAE ®TeATe E1e ahe
Why did the astronomy of Galileo become dangerous ?
(1) He could not prepare star charts

(2) His observations were responsible for disappearance of man from the moon
(3) He offered a natural interpretation

(4) He challenged the axioms about the world which the powerful took
for granted

10. I IATAHER AGTEH FF FA ?
(1) < fFsamarga avr=ameT aaaen
(2) wafe waTSeTEEde e
(3) Ieogd ST fagia migen
(4) fim amga anEn frsa= fiaw &9
According to this passage, what did Leeuwenhoek do ?
(1) He created a food reserve out of small microbes

(2) He supported the established social system
(3) He proposed the theory of arbitrary creation
(4) He sharpened the lens and observed small microbes

Wi I AR YA F. 11 15 I,

IR, B WA 3G FEdrE], AL A anArEEE fawy R, e il feawa s
T Tl HTE TR AT AT, T8 T d T AT ; 0T T HI0T A0, I7 QAT Tl o TR Sz
JVES. T U g AR W et andd. fefevam, aievard, S seqeoRm A wwErde W
fragreda T sw wgEE AR FE; g A aga W ATHIR A, AR, W3 R sy
HEAT. HIH WSS dieiard. T fafgard. oo Qe ‘wegewra’ @ faviwo st ; 9o g w
HYUE1 NLLEA Fae Ted AN qad H& Tehdl, & HME Achihe AT HeAr Hrga fievhmen
I fe.

Foeh| FHUTATS! AT /| SPACE FOR ROUGH WORK P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247
E 10 R17

arean Tt} e, e B 1. @a A7 -wneda o, A s o e, e aHE srRig for
TE) AT, weeh faen uw wisg aTagen R, A W ' A ana g e sma. f Bved ey
ISR, A A WA HW MR, ) =87 fovm W', wees g e 9 e’ ‘A w1 @ 4
T w0, 70 fran wea aEen sEA ‘W ¢ A Fad I A faen 103 amEa ; T e
e et matfea sk, snfn snf wea 3t it Eam, R STEaEd gen 3w for ff R s Eee
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A Red P qsae T, TeE |91 IR, R oW 3. St T @6 gEEd, Fof T fea
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W1 93N, el o B, JEAET Wid 3 S Saet TTdd, T S T 7Y JEEORE .
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12. 390 FRA FaAm arawa e SqEs FOAEE 411 @ W amEr; 9 a aaE
Hivge . S
A, WA NS T S KM T 9T AIFA 15
W, WY WA S BT WIS /1 SRS A, 396 a1 gt gfed A A
%, Naemsm A o, gEepaa @ iz aevaren seaviige a1’ meo gm
I,
3. @FHagyHA! 1!’ FIgHE1 IQM Fea T,

(1) AN &wE (2) s SFR  (3) T Hed (4) & %

13. wdte Faffifdfen sfremmeita Fem aft, Somen & w1 7' @ s foaREE 9.
H
¥, we w¥ fwtn dawm R v
. TS §E T WETHR e R RO
. framn, s anfor 77 9= 9= wed ToE mvE
T, FHAl G FTA, HAThd HI TG TR 8 FHSATETEN
(1) ISFR TR (2) A A TTR (3) A, F, STWR (4) & A0 T TR

14. BV ® W& i SR G AHIEOTR TR, FRO
A e g fegumr=n saefl, 9% a1 Feishdiers! ot T Ik Nfafshan .
9. AR Faddwda o e fat sruten wffwear e amEeen .
$. i Ff @ ST FEHR AeTanyd i sreren THar.
3. N gEHar Y A Il

(1) 3 == (2) ¥ «W (3) ®amfrs e (4) ¥y 3 EN
15. Geiiel og T &1 IV Had VIR 3eifasy Frean Svesn «mEn.
eg areifavre
() F?’ THER (i) ferdao

(@) V<CEATS /(u) GE IS

®) = iii) & I
® T, v 9,8, %'/<(iv) wrert feedt wiafshan IgmRoma
@ B Av) et mferenr

N @ = € @

A1) (i) (v) (@) Gv) ()
() (iv) (@) (v) (i)

) (i) () () (v) (iv)
74(4) (iv) (i) (@@i) (@) (v)
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wrhm 3 W N . 16 A0, %, 20 W I v,

o s wgr st (C), WA (H) snfn siffeeem (O) s@am, Féme sfres
e (N), #8ra (X = Cl, Br, 1) ¥. 3@am. s agria 3ol qeagy a4y ‘- * 5@ Zoifae Jam
. CH,, vl y% graiom i skl v awega v 3@l (structure of methane)

W wreTeTen R TeR (SN 3w fRen s e agen fafing ot s @)
WA e 37 fRes e sagedie, — 0 — H anfr @ w1 sewEe (R-O-H)
AR - R w s i 3 (—R =C_H,,,,, 3 ‘n’ & Fri Sh aen). FEite s maem

>C = O 27 HA1 JHATA
H H H
I . I |
(i) JPeER® R, — C = o I = wgTen PR (H—C=08rR —C=0)

|
TR, 3 (i) FrTRE 72, >C = O Infr = FgmEn FEw (R, —C = R, where

OH
|
R, =R, or R, # R)) 31 Rrama. FaifAel T N TG e T &4 — C = O, Hiaiadiet
OH OH
I I
BrreTs e AR A 3P TR R Sgmen R 3 (H —C = 0 and R—C = 0)

m,mm%mmmamm H, SO, =1 Husid Tarie AT 8o T

[
mﬁémﬁ—c — O — firmareres e w1 agmen fafire Tt wem Sar @ eaTaRer g3

(0]
Il l
(H—C —OR or R—C —OR, where R=R; orR#R,) 31@81’8%.“

[
:mmwmmmm FrEich, IR ( —C—l!I—- Jgam), fofrs

il
(—C — O— JWAM) §. WA A 1 GoAlareqn QEAET W @A, nr § fafaw i
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Jffrme wm g2 S srwam. o sl @gmE, TaEeE wEm UF qv, AR Ge 9 Y,
T FE A= Wy fn wlR e W Ay AR .

W R FEETT G C, (H,0),,, TN b w3t e ) Tamfe e § diefergad
yfesEse (fFm €127) smam 38, CH | ,0,, ¥ UM i fian et e fearrdran s wii=
Fefty YU W I A VR W e A, saEdeE 3. Cy,H,,0,,, TeeR
Fe TR (TH H,0 FTE) B 3 MTEE revra wghia 1M s e, e
. C,gH3,0,6, MR Fefla smwen (A7 H,0 aren) 813 &7 AT o o,
T, Y SRR T T e fresama. ot 361, (CH, oO05),,, RN Fella Jaaen
B3R P QUE (FF TR B

1 AR U AfCsRTEde R e SR ST e FgUTd, AT e e e
"3 X AW . TS CH, )0, T TAmed T R frameres 12 el warent fevdlst wevram,
R = Tae e AT Y9 T Y FAE. T AEN A DRSS O Al Hie
S TR IvrEh TRad BRI, TN CH, 0 = 71 HeeiRasie 31 g 3.

CHO
I
HO— C — H
|
HO— C —H CHO

I I
H— C —OH OR (HO— C — H),

H— C —OH CH,OH
| LEIEEIRSIER]
CH,OH
HAore ==

WA €A e, M G SqreA1 AETE e A B T A ferefiass o,
A O S &7 e a sramfafo S a1 (S e 3 e YeseErean U fhan
svjean fafre T e arR) ST, T A 3 s v R R T s s
Sy Jrear nfo e TR HaY R e o wrh gdur wiom IR ar. T e T
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wfafafesfon, vam yfas vem anema arm oo fasg fRwin assermm/ gREed Ham.
H 8

N\
(
|
HO — C*— H
I
CH,0H
frepterdieTee

An i s sfafafasfiarh qen 20 (G n = FaE FEH n pfle FEm). S
wr@ Wq3 e faa wraaE augd woa, o angina fafaw SR e smer=m s
we W, wnfo g wzEen fraAre e awgEm v,

Read the following passage and answer the questions 16 to 20.

Many organic compounds contain carbon (C), hydrogen (H), oxygen (O);
and some of them also have additional elements such as nitrogen (N), halogens
(X = CI, Br. I) etc. The bond /s between the atoms in organic compounds are covalent,
and are indicated by a ' - | eg. in methane, CH,, each hydrogen and carbon has a
single covalent bond.

Organic chemistry is also called the chemistry of functional groups (an
atom or group of atoms that confers specific characteristics to that compound)
eg. the functional group (FG) is hydroxyl, — O — H and the compounds formed
are alcohols (R-O-H) where - R is alkyl group (—R is — C_H,,,, and ‘n’ is the
number of carbon atoms). The FG carbonyl > C = O has two arrangements:

H H H

I I
(i) aldehydic, — C = O the compound is aldehyde (H—C = Q or R —C = 0)

O
_ Il
and (ii) ketonic, >C = O and the compound is ketone (Rl —C = R, where

R, =R, cg 1:21 # R,). The combination of carbonyl group with hydroxyl group
I
gives — C = O i.e. carboxyl functional group, and the compounds formed are
OH OH

carboxylic acids (H —C = 0 and R —C = 0). Carboxylic acids react with
alcohols in presence of concentrated H,SO, yields esters, whose general formula is
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o) o
I |

(H—C —ORor R—C _OlehereOR = R, or R # R,). The characteristic

properties of esters are because of — C — O — functional group.
Bodies of living organisms contain large number of different biomolecules eg.
O H O
I II
carbohydrates, proteins (contain —C — N —), lipids (contain —C — O —) etc.
which constitute their structure, and are also part of various physiological processes
taking place in them. Thus, hydrogen forms only one, oxygen forms only two, nitrogen
forms only three, and carbon forms only four covalent bonds.

Though most of carbohydrates are represented by a general formula Cx(HQO)y
i.e. hydrates of carbon, they are chemically polyhydroxy aldehydes (or ketones)
eg. CgH,,O¢ is either glucose or fructose or galactose. They cannot be hydrolyzed
further, hence are called monosaccharides. Disaccharides eg. sucrose, C;,H,,0;,
on hydrolysis (using one H,O) yields two molecules of monosaccharides: glucose
and fructose. Trisaccharides eg. raffinose, C,gH;,0, ¢, on hydrolysis (using two H,0)
yields three monosaccharides one unit of each: glucose, fructose and galactose.
Polysaccharide eg. starch, (C¢gH;yOg) , is a common ingredient of food grain, on
hydrolysis yields a very large number of units of glucose.

Monosaccharide with an aldehydic carbonyl group is called aldose, and their
names will have suffix ‘ose’ eg. Mannose, C;H,,0¢. While that with a ketonic
carbonyl group is called ketose, and their some names end with ‘ulose’. These names
are further modified in accordance with the total number of carbon atoms in the

monosaccharide eg. Mannose, CgH,,04 can also be called aldohexose.

CHO
I
HO— C—H
I
HO— C —H CHO

I |
H—C—OH OR (HO— C — H),

H — C —OH CH,0H
| Structure of mannose
CH,OH
Structure of mannose
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The smallest aldose, and the only one whose name does not end in “ose”, is
glyceraldehyde. It has a chiral center or has an asymmetric carbon* atom (a carbon
atom bonded to four different atoms or groups). A molecule with a chiral center has
a pair of enantiomers which are related to each other as object and its mirror image.
Each isomer of this pair rotates the plane polarized light in equal magnitude but in
opposite directions.

H 0
A7,
C/

|
HO — C*— H

|
CH,OH

Glyceraldehyde

This property (optical activity) is shown only by those organic compounds which
have a chiral center. One can arrive at the number of optical isomers using the
relation 2", where n is the number of chiral centers. The molecules having the same
molecular formula but different structures are called isomers. If the isomers carry
different functional groups, they are called functional isomers, and the phenomenon
is called functional isomerism.

CH,4
_ |
16. ¥ H _C — OH ®NH C4(H,0); R
I

C — OH
[
o
(1) IS, TH FEieH A1 (2) SHEEER TR, UF FEEH AR
(3) TwagE, T wEieh AR (4) T FrEles T
CH,

I
The compound H _C — OH i.e. C3(H,0); is

C— OH

I

0]
(1) Aldotriose, a carbohydrate (2) Dihydroxy triose, a carbohydrate
(3) Ketotriose, a carbohydrate (4) Not a carbohydrate
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17. 91 A’ 2 e wee (AR H,0 aE) dm qhfRrdla 3 3761 T i 0, T
PRI T NN QF eIt oheh AR B, WA’ R I,
(1) C24H44022 (2) CQ4H48024
(3) CQ4H42021 (4) C24H40020

The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate
conditions to form a unit of glucose, a unit of fructose and two units of
galactose. The molecular formula of the compound ‘A’ is

(1) Cy4H4407; (2) Cp4H4g024
(3) Cp4H405 (4) Cp4H40020

: uwﬂaﬂﬁaﬁ;mwhdgﬁwa?'s' = Fradd FGH IR 7

CH,OH H—C =0
l |
C=0 (HO—C—H),
I |

(HO — cI: — H), CH,OH

CH,OH

(1) A nfr B & baa werieri= sfafafasiia ama

(2) A 3f B & v uwRw=l fhaeas Te qugE Ined

(3) A anfr B & vawh wfafefeshia anfor frarens e awgh anga

(4) A 3nfr B & Y= wfaffasia A anftr forareres e aneEfidt fga

Which of the following option is correct about compounds A and B ?
A B
(IlH20H H—C =0
|
C =0 (HO—IC— H),
I
(HO—C — H), CH,OH
I

CH,OH
(1) A and B are only optical isomers of each other
(2) A and B are only functional isomers of each other
(3) A and B are optical as well as functional isomers of each other

(4) A and B are neither optical nor functional isomers of each other
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(I:HQOH
C =0
I . .
19. (HO— C — H), R&q1 am anfr g sffffarm Siisen 311
I:HQOH
(1) feRwar, 4 (2) frRwdlw, 8 (3) IceRwE, 4 (4) cESRTEM, 8
(I:H20H
CcC =0

I
The compound (HO— C — H)jis a

of optical isomers.

and has ____________ pairs

CH,OH
(1) Ketohexose, 4 (2) Ketohexose, 8 (3) Aldohexose, 4 (4) Aldohexose, 8

20. QAT Fordt Ty vt Srmfaa gEada ?

H
AN
N
H—C —OH H—C-—Cl C
I | |
(I:H2 CH;j CH; — C — OH
|
CH, H
A B C

(1) SFRANMMB (2) SRAFNNC (3) SR BM C (4) ST @
Which of the following compounds will show optical activity ?

I I N
H—C —OH H—Cc—Cl C
I | I
(I:H2 CH; CH, —(IJ — OH
CH, H
A B C
(1) Only Aand B (2) Only Aand C
(3) OnlyBand C (4) All of the above
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WEN™ I AT WL . 21 AW, . 28 HIw W,

WA HIBE T THRA W&GN, H2, a1 A6 dafore qaad, snfs aga a wde
A= 337 e~ vl e o M A7) s, FR, A A A wae,
snfiies W @ e e 337 T FORT AN HigA HrAvAT e G e 39 .
A T@ THITE TR WRATHN JTeh G A0 A AT NI Go5 FHOT T FHTIR
WTATA STHeTaa ram T T T R U W@, G a1 data B T e 39 Ao
S R AT AT S A R, e S ern A e # e fr
yamoma e -SrfmfiE s w1 e
et fvay, (3yfaorda fare %8, (4 amnfos, ot 3 i sifemriEme - S
IO THITT & (51 /IR0 AT TS,

e HieTeTE S AT A0 FE, AT I T FATH S ] 9 Adeagea
Frfem o IR, s Foren Irdd SEn A feh wfis 3 sEeer . e R
AR, T FE Miaed 3| Fsrd FREa gtd 18 ), Tdiegar TRIE e AR

FA JTEARE! ). HIN RO AGEE T € SHRAAT AR SUSUATE IaRaan 3Aan Tfaeft A,
forggor yam @ ArTESEE St 2vara Jurn Qs 9 i geedine SHeEETEEd IERAGETE! RO
TR FHTSTE M7 YSat 3R, B 51 W 37ee) alt H1g) STt e SatnTd SqaaErs faehed Tgo weg
war. i e aqgfudt s rETaTe fre T S g i fasm 3. v fafie sreErmRgd
ot e s s = St Rt ST S ) Ao wr
W1 = T A foiedn saamEr=an TEaat aded .
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Read the following passage and answer the questions 21 to 25:

In the post-independence period, the national government made the anti-caste
campaign a part of its state policy, through propaganda, laws, educational concessions
to backward castes, financial aid and reserved jobs. The efforts of the national
government to destroy the caste system by providing propaganda, laws, financial
assistance to the backward castes and reserved jobs have continued unabated.
When India ranks high among the leading democracies of the world, it cannot be
acceptable to discriminate between people based on birth in a nation that is the
cradle of democracy. Since the basic principles of democracy are against the caste
system, it came to pass that the caste system cannot continue in democratic India.
The efforts made by the government in this regard have been very successful and the
rate of education among the backward castes is increasing. To the extent that the

lower castes become educated, the distance between the castes will dissolve.

We will try to analyze whether the caste system survives in India today or not on
the basis of the following factors. Existence of caste system depends on the following
qualifying factors. (1) Determination of prestige by birth, (2) Prohibition of choice of
profession, (3) Prohibition of exogamy, (4) Discrimination between castes in social,

political and religious rights, (5) Superiority of the Brahmin caste.

The vitality of the castes can be imagined from their existence in the society.
Therefore, on the basis of these five aspects, let us now discuss the existence of the
caste system. According to the scholars of caste system, the caste system has been
eradicated. Today, a person’s reputation does not depend on the caste he is born into.
Freedom of choice of occupation has been granted to everyone by the Constitution
itself. The social superiority of Brahmins has always been usurped from them. From
all these things it is not a problem to draw a conclusion that the caste system has
almost been destroyed.
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Freedom of choice of profession has been granted to everyone by the constitution
itself. It is no longer possible to force the child of the matangas to remain a matanga.
It is no longer possible to decide which occupation one should do according to caste.
The spread of education and the educational and financial concessions given to the
backward castes have forced the society to adopt a liberal policy towards business.
Although this is true, some castes prefer to stick to their traditional ocwpaﬁons.
This is also a fact. A person takes two things into consideration while choosing any
business, profit earned and the social status acquired through the business. According
to Davies, the prestige of any social place depends on the importance of the occupation

that the place has to offer.

21. G i o e T @ o
() S e AP Seshied Rieuren aree SATmeS Frih wHar F
BIoaTE Ted giel
2) Yo fadia au R wivEa fasE aea AT
(3) mmmmwmmmmmmwﬁa
(4) m&mmmmm

Which of the following statements is not true ?

(1) Increased level of education among the socially backward sections helps

to bring the social equality

(2) A society without discrimination is not a principle of sustainable

development

(3) Provisions in the Indian Constitution and government policies help to -

reduce caste discrimination

(4) The basic principle of democracy is against caste system
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22. T FvR Rym W am 7

N, g fyww Te0 } waTen R age .

f=. A fTwa FH ST AT ST Freren Seafirs faea wgeTen 3@ .

%, W g @ 9 Sl e dReTER 39T AR, SR W e ST
SR Qi Jeure e .

(1) 9%

4(2) ¥, ¥

@ x=
(4) e Hoad @

Which of the following statements is correct ?

A. Absence of social inequality is a sign of development of India.

B. Educational development among backward elements is not important to
reduce social disparity.

C. Indian society stands on the boundaries of class and caste, so the caste
system has not been completely abolished in Indian society.

(1) A,B,C

(2) A, B

38) A C

(4) None of the above

23. mmmmﬁmﬁmw@?

(1) ST YRR JAHOR Jrarfoes gfasst

(2) SAREH Ff § AR wgaTa favg R

(3) TR, Tohr 3nfor e Jrftreri=an et SrEomT 9T
(4) =EE™ Fads @ T

Which of the following statement is not true for existence of caste system ?

(1) Social status based on birth

(2) Doership is an important issue for caste system instead of birth
(3) Favoritism towards socio-political and economic authorities

(4) Lack of freedom of choice of occupation
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24. wrefta faumrn fmm

S w7 o A v wfiser wn e wea feview sysamErE
WECTER TS .

¥, EgE! Rag FaA ®@ SHaEE g 3wt anfor sramre e sl
wiersar arn foam wft #@ s,

(1) Fhath A faum a2 g F fumr T Fro om

(2) Tt = faum w3 A fure T FR0 T

(3) faum 3 =, I H

(4) fum 1 9%, T W=

Consider the following statements :

A. According to Davies, the prestige of any social position depends on the
importance of the business assigned to that position.

B. While choosing a business, a person thinks about the financial gain
from that business and the social prestige gained by the business.

(1) Both of the above statements are true and B is the reason for statement A

(2) Both of the above statements are true and B is not the reason for statement A

(3) Statement A is correct, B is false

(4) Statement A is false, B is correct

25. WA FoR Ry a9 3 7

A, =aar Fadem w2 id-srdudie Sewe S8 g ved .
3¢ aur Fagvara Ierraard drmen famm fugome sar st g - il

AT Ui =T Faediges 8 3R,
% wmfors snfor uride: sfaser € sgewr Readiat s s aed .
(1) 3, (2) ¥, % (3) ,« (4) =@ wd

Which of the following statements is true ?

A. Freedom of choice of occupation helps in reducing caste discrimination.

B. Development of the liberal policy of choosing occupations is due to the
spread of education and concessions to the socio-economically backward

sections.
C. Social and religious prestige has no influence on career choice.
(1) A, C (2) B,C (3) A, B (4) All of the above
FTeA1 HIMTHIS! AW / SPACE FOR ROUGH WORK P.T.O.
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WIFIE IR &3 ¥, 3. 26 A 9. . 30 ¥ e sy sw R,

1908mﬁarﬂ\ﬂwﬁam&mﬂﬁmm:@ﬁwa iAot TS 37 g
IoNTER e, U Ve e ol T b sl s wEiva gn we R ufeen; 9@
I WA VT M TR war ree 7l defie = reur W i an dedtd @ v
IR B ; I e feen e &1 aren wftg &9 R o @t Hf frasaumE’ fed yRew
AT e TEEe i i e e, mﬁmm&m/ﬁamaﬂawmﬁﬁaw
meﬁaﬁmmmw@wmﬁwmmm
WA= Rrgiaae Jdria Riunma sd Nt Qe SEERdie FTé T S Y TR 3.
i e feEmren qerE Tedt Sve SqEdt Aimed shidean GAfER geaTdist N v
T TR ; HTIV AT STSATET YISYUET HE bl S TasTashreaT Aagriires Fyaiqy @it 3
Hd ToI1 HE1 U1 HIHHIES WA Ha1 fehfia g1 e, 8 g ek,

Fa @ Tl 3 Aefifervas ey wueen affa afem eme. 39 e
TRRTE - AT e ufas aqul spuTsy fema anftr yeierde idta YR ufed | wrdtg
FTiE A (ST fir afera S e ST e Tee YR T R Tk SerEdt
A e . meifiE siem Feam SEE, e <fera gadt STr@en i a1 SedrE
TS A=Al W18 AT, A Agdid M §F Fetean St freor wesmRn fermad @i
HYAd I FALL N1 611 ST WA AfFell I YRdTg eenuaatean ST Fat It feef.
fo st STeu-gew, Tt anfr &fea e ardiar figacares afemnn 39 . RE L
Mﬁmmmmmmmm
et e forgia 2 amiores fRigia 8. o frees figares Tt faversor o s wenfaeg
vt T, A T ST S R e 3R AT T 9 SR,
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Read the following passage and answer the Q. No. 26 to Q. No. 30.

After Gandhi’s comment on Hind Swaraj in 1908, the meaning of self-rule and
self-determination continued and clarified. Once it was meant as independence or
self governed country of the Indian people as a developed country; If many people
understand India to be an international government, here ‘self’ means India and in
this context, Swaraj means independence of India as a nation. In the Hind Swaraj,
the difference is not expected only Kale Saheb instead of Gore Saheb. Gandhi would
have seen the all-round emancipation of the Indian people. According to Gandhi’s
opinion, every village would have to enjoy Swaraj or self-government; Though the roar
of Lokmanya Tilak ‘Swaraj is my birthright and I will got it,” spread the concept of
Swaraj all over India. But Gandhi gave it a detailed, philosophic meaning. The method
of understanding self-determination was interpreted in the Hind Swaraj. However,
each use of this method starts a discussion like the earlier century. There were many
contradictions within Gandhi’s own theory and in some incidents of his behavior led
to many objections. Gandhi’s soft policy on criticisms of capitalism, caste system
and religious practices were based on reality. Gandhi’s base method of thoughts of
Swaraj was useful the beginning line for the rethinking of democratic revolution; we
can follow this statement and the experience of last century the meaning of Swaraj
has evolved into an all-inclusive freedom which is continuously making new orbit.

In the agricultural struggle ‘Kasel Tyachi Zameen’ Swaraj got classified
measurements. Here the full rainbow of ideologies from Gandhian to Marxist-Leninist
is visible and the differences within each! The struggle of Indian democracy still
discusses on the freedom of the landless, poor farm worker and unorganized workers
and policies of it. Swaraj of the outcaste or Dalit and low-caste got central position
in Indian political programme. Gandhiji’s Harijan Welfare Plan, Ambedkar’s Dalit
Mukti Plan and combining the basic elements of both with the government’s policy
of reservation has brought another innovative flow in the social transformation of
contemporary India. The Swaraj concept for women was originated from the women’s
education programme started in freedom movement by Gandhiji. In the last three
decades, the Indian women'’s movement has given a new height to the commentary on
Indian democracy. It exposed the patriarchal dimensions of social structure, culture
and the day today behaviour. Apart from this, the new principle of dominance and
liberty was to formulated. So far, the methods of the unknown dominant ways the
society have been suggested. In this way, a feminist theory would be a social theory.
It is not only the analysing patriarchal system and does not fight against the state.
It analyses all types of dominance and searches freedom in all fields.
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26. T ¥ FHeIAA AR HoedT TZHE G Bl ?
T, TRE TEN WEAE AEE0
. Aeu Rew @’ @ wehed NI gEE!.
K. e Mt wm € weern st frega e,
(1) & 3 P« (2) a « T 3
(3) W W, F N T A ¥, 9, F g
Which of the following factor/s are included in the concept of ‘Swaraj’ ?
A. Method of understanding self-determination.
B. Every village should experience self-government.
C. Lokmanya Tilak spread the concept of ‘Swaraj’ all over the India.
D. Mahatma Gandhi elaborated the concept of ‘Swaraj’.
(1) Only Aand B (2) OnlyBandD
(3) OnlyB,CandD (4 A,B,CandD

27. T THeI Gieiterdh! HAmYT Fig aREmr anter/dane ?
. ‘A I T gewidia e
3. YRA™ SAHhIEET del
(1) %9 A0 6 (2) ®Faw
(3) e 3 M H (4) e 9, & IS

In which of the following categories did the ‘Swaraj’ concept get classified
measurements ?

A. Mahatma Gandhi’s ‘Harijan Welfare Plan’.

B. Struggle for Kasel Tyachi Zameen’.

C. Dr. Ambedkar’s Dalit Mukti Plan’.

D. Struggle of Indian Democracy.

(1) OnlyBandC (2) OnlyB

(3) OnlyAandC (4) Onmnly B, Cand D
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28. vwATSN Ty wriwn T et S s s e e am 7
N whER wFam T
v hem g smam
. arferm fm efam @
A€ v aiR e

(1) v X wfn & (2) e anfon g
(3) N w &afne (4) wF A, ¥ AN+

Which of the following factor/s has got central position in the political
programme of the India ?

A. Harijan Welfare Plan
B. Dalit Mukti Plan
C. Swaraj of outcaste and Dalits

D. Swaraj of lower castes

(1) Only Aand C (2) Only Band D

(3) A,B,CandD (4) OnlyA,Band C
29. Tl Foren st R Arewd sfires s w2

N Had 9293

. gt Edard) 9@a9s

®. Vdfawas 9293

T. miuﬁaéaﬁammﬁ

(1) J, @ FaAMe (2) I A, T AT H

(3) ww T, F AT (4) A, F A S

In which of the following factor/s did the Indian Democracy become more
widespread ?

A. Feminist Movement

B. Social Reformist Movement

C. Agricultural Movement

D. Unorganized Sector Workers Movement

(1) A,B,CandD (2) OnlyA,Band C

(3) OnlyB,CandD (4) OnlyA,Cand D
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30. ‘@U@ WECRWN WEfetd A7 9T NS
N, @ TBads vt A e e,
W O e vt s qatfivn g aeRe g,

(1) ¥, & qg (2) ¥, €AY (3) @ 3am 4) &, zIM

In respect of ‘Swaraj’ concept identify the correct factors among the following.
A. Due to ‘Swaraj’ Movement Indian Democracy Developed.

B. ‘Swaraj’ concept includes all round liberation of the Indian people.

C. Only self-rule includes in the ‘Swaraj’ concept.

D. Only self-determination includes in the ‘Swaraj’ concept.

(1) A,Ccorrect (2) A,Bcorrect (3) B, Dcorrect (4) C, D correct

W IAR AT AT ERa 9. . 31 @ 0. . 35 <t 3w faan.

Wt srfemaers ferd

et A T8 FMf3-19 HETR e srferardad s fieft 3mRa. Hemtean were gAugH,
[E3T- @S 7eUa, N TR Igaelt WIeae IS URulal HTeeHTHS 9 el AR, a1
TR ATg VATHIS WA FIHTA dTaeare FHIAS 3T ATIR &A1 TS 3 HATUR
W9 I Tega iz feian e farmuamard snferaen Tar F, e W e am.

S I T 2020-21 HA AT FEa T2 FeAHR T 2021-22 ALY 0 IR
T @ IQEH 9.2 % 1 T, ITEA ¢ WK B ), HIfIg FoheHd T MMUh ATER qeIera
3 a1, v Fiedis B caiaam &), s At TRoTH Hial S o QT AT wRedT R
e qftoms 2020-21 79} areferarh Ol TrRad) e yEna FH Uden .

Fft T HeA ST HRAT TR TRy gaid FH afeen AR, @ 2021-22 TR 3.9% T
ared ft 3w IR, A A e I TUR 2020-21 AR 3.6% Tadl B, JPMS Igramm,
I (G SR STUSHE ) TR0 ged 916 2021-22 79 11.8% I 8, it 2020-21 15y
7 T et B, Fa G, fadtea: o dudh Jom=n e, SR wemien gaiftes feger whom
e 3R, 8% 71 e anld 8.2% <A a1eet 31w e R, I e aff 8.4% I "I B,

WHTA G Feled Wig INEHTS 2021-22 T THI IDIT 7% 3 Tedd 36T IR AR,
89 AN gfau aie gt TEige ©E fer wisad ffifd Sim ggmigdien site wef sm.
aq anfor &an fafa sEgIeTRiieT 2021-22 W& YEe FTel AR, HIA TG qTON EREAHR 9

FHiaws T fEndt € 3=9 ufea? smamd arech IR,
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Read the following passage and answer the questions from 31 to 35.
State of the Indian Economy

The last two years have been difficult for the world economy on account of the
COVID-19 pandemic. Repeated waves of infection, supply-chain disruptions and
more recently, inflation have created particularly challenging times for policy making.
Faced with these challenges, the Government of India’s immediate response was a
bouquet of safety nets to cushion the impact on vulnerable sections of society and the
business sector. It next pushed through a significant increase in capital expenditure on
infrastructure to build back medium-term demand as well as aggressively implemented
supply side measures to prepare the economy for a sustained long-term expansion.

Advance estimates suggest that the Indian economy is expected to witness real
GDP expansion of 9.2 per cent in 2021-22 after contraction in it in 2020-21. This
implies that overall economic activities have recovered past the pre-pandemic levels.
Almost all indicators show that the economic impact of the “second wave” in Q1 was
much smaller than that experienced during the full lockdown phase in 2020-21 even
though the health impact was more severe.

Agriculture and allied sectors have been least impacted by the pandemic and
the sector is expected to grow by 3.9 per cent in 2021-22 after growing at 3.6 per cent
in the previous year. Advance estimates suggest that the GVA of Industry (including
mining and construction) will rise by 11.8 per cent in 2021-22 after contracting by
7 per cent in 2020-21. The service sector has been hit the hardest by the pandemic;
especially segments that involve human contact. This sector is estimated to grow by
8.2 per cent this financial year following last year’s 8.4 per cent contraction.

Total consumption is estimated to have grown by 7 per cent in 2021-22 with
significant contributions from government spending. Similarly, Gross Fixed Capital
Formation exceeded pre-pandemic levels on the back of ramped up public expenditure
on infrastructure. Exports of both goods and services have been exceptionally strong
so far in 2021-22, but imports also recovered strongly with recovery in domestic

demand as well as higher international commodity prices.

31. unv fafvadia arcfiatsh S w0 3 e 3 ?

(1) wawr=n e FRogst (2) TEIT — TGS ’EUS
(3) wrEaETR (4) 0w @d
Which of the following have created challenging times for policy-making ?
(1) Repeated waves of infection (2) Supply - chain disruptions
(3) Inflation (4) All of the above
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s Al AT ST MRA FEE HI0 I T 7

-(Ql m?ﬁa@ma o SATgR GETETd! iR e,
wigael! @Eta A1 arg.

;cn. nmm?ﬁquﬁt{a‘wmmﬂ.

A& [Ee a9 I e AneraEv,

wrefieh I yatg e
(1) & N (2) $HT
(3) ¥ anfn = 4) 3,9 Fafrsg

Which measures have been implemented by the government of India to prepare

the economy for a sustained long-term expansion ?

A. Bouquet of safety-nets to vulnerable sections of society and business
sector.

B. Significant increase in capital expenditure on infrastructure.

C. To build back medium-term demand.

D. Aggressively implemented supply-side measures.

Choose the correct option.

(1) Only A (2) OnlyB

(3) Aand B (4) A,B,CandD

IS JeErETEm, 9§ 2020-21 T NfE g g FeIEa , 9§ 2021-22 T N
IR TS ST IS 9.2% 7 FTed. I 7Y I H,
JA) & anfies SR o verer 4a e
A2) vl Fredis geffaama i, ga=n anean aieen foardiefter onféifes afom &7 2020-21
Tefter qof TR FH B,
fgean ATHEA I STediet TR Hi8T Fegd.
(4) (1) 3nfor (2)
Advance estimates suggest that the Indian economy is expected to witness

real GDP expansion of 9.2 per cent in 2021-22 after contracting in 2020-21.
This implies that

(1) Overall economic activity has recovered past the pre-pandemic levels.

(2) Almost all indicators show that the economic impact of the “second wave”
in Q1 was much smaller than full lockdown phase in 2020-21.

(3) The impact on health sector was not severe during first wave.

(4) (1)and (2)
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34. ¥ 2021-22 72 YRATHS FIVRA ICCH & IqH FWOH I 7

(1) eft anfor 5o &=

(2) I (@M AT FUHH UEA) &

(3) @a1 &

(4) == wd

In the year 2021-22, which productive sector of India will show the better
performance ?

(1) Agriculture and allied sectors

(2) Industry (including mining and construction)

(3) Service sector

(4) All the above

35. T 2021-22 T TH ITINT 7% I IS AT IS 1R HII,
) | G- Wi dme
(2) R TR Hremia @ for ysaa Rffd afws
(3) =& I &an Fafa 2021-22 7R IqETEHHRET Yo
(4) =0« w4
Total consumption is estimated to grow by 7 per cent in 2021-22 because
of
(1) Significant contributions from government spending
(2) Gross Fixed Capital Formation exceeded pre-pandemic levels

(3) Exports of both goods and services have been exceptionally strong
(4) All the above

Qe IAT AT 9. . 36 AW . 40 i IW .
‘S o gaiERo Sge”

W ARG FUIETR F1e AR, 1999 WL WM 6 HAeWE T JeATSel. HETUHIET SIS
TR g9 T de AR, (3. 25 Wi e T AR 250 X gy A wia areen IR).
TR Jetalict e Heras Ut o 3ol 38 T SrTfis et 3 qEiefia aga agd
A 31T,

i. 1900 =T G FM=AT ATFBTAT_50%, 1950 AT SUHMA 40% M 2000 T4 TIHA 30%
ST IR T 89 BN, A Taaw, SRt T e AR, 3 | 9
3, A o ATEeh IR, T TR A FH ;e AR, A A IR A
IS T IR,

IRETSAT M AU IGel AR,
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ili. U9 HE=UYTS WHOTA 913,
iv. s F=0 3 ygEEEn T AR,
v. YEs W s=EEed v @ anfr fresrerem yAvmel arg.

vi. P suarsn awosn 3= R amEem w3 SR, G 3 SEETEE I 3w
% Ty N R fresa s S ama WS A g, Imfas aoaE arg s
TER YR T Pt gda am.

wae whm & edameme dfFoiemte wEEf 359 eI U aEEaTe y9TE AR,

ghaperdiel somm & aW R qea afis w1 gawwEa T S e A MrTEREE
IR, T IR YSTHF /AB/ TS T AU IaR g,

Read the following passage and answer the questions 36 to 40.
‘“‘Global Environmental Changes’’

Human population has been growing rapidly. It has crossed 6 billion mark
in 1999. Per capita consumption of resources has increased to many times
(e.g. 25 litres of fresh water to 250 litres/day). This has strained in life supporting
system of earth and brought about a number of environmental changes on a global
scale.

i. Forest cover of the world was 50% of land area in the decade of 1900, 40% of land
in the decade of 1950s and less than 30% in the decade of 2000. It has resulted
in increased desertification, irregular rainfall, more floods, increased soil erosion,
loss of perrenial flow in rivers, reduced ground water and therefore, increased
drought.

ii. More and more people are migrating to towns and cities. There is rise in the number
of slums and consequently, an increase in filth and pollution.

iii. Increase in quantity of solid wastes.

iv. Rise in industrial wastes and pollutants.

Increased passage of fertilizers and pesticides in water bodies and food chains.

vi. High rate of consumption of fossil fuels is adding CO,, SO, and a number of other
gases and chemicals into the atmosphere causing acid rain, ozone depletion, global
warming and frequent foggy weather.

Green House Effect is a warming effect found in a green house by allowing solar
radiations to pass in, but preventing long wave heat radiations to pass out due to
glass panes, water vapours and carbon dioxide. Because of it, green houses are used
for growing tropical plants in temperate areas. Green house warm up is similar to the
inside of a car parked in the sun for an hour or so. Dusty/humid/cloudy nights are
warmer due to this phenomenon.

<
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36. I 2000 B TEHW MTTER Rt FTe T B 7
(1) 50% Q& Im@ (2) 60% Y% ATERA
(3) W& 30% (4) 30% tE wft

How much forest cover of the world was of land area in decade of 2000 ?

(1) More than 50% (2) More than 60%
(3) 30% only (4) Less than 30%
87. 1999 wreh e Srwaem Rt At 7
(1) 4 I (2) S I (3) 6 I (4) 3 F&

How much was the human population in 1999 ?

(1) 4 billion (2) S billion (3) 6 billion (4) 3 billion

38. FHS SITATSAT ETEIS HIUI Hohe IXEA A ?
A Ftafa wimm
B. YT dlea IR
WA Cricau
D. THe Flee IR
Feth Fv faum/fum ste amga ?
(1) A% - (2) A, Canfr D
(3) A 3nfr B % (4) A, Banfr D

Deforestation in the world has resulted in which calamities ?
A. Irregular rainfall

B. Increased ground water

C. Desertification

D. Increased drought

Which of the statement given above is/are correct ?

(1) Aonly (2) A, CandD
(3) Aand B only (4) A,Band D
WS SRS TN / SPACE FOR ROUGH WORK P.T.O.
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39, R JuaTed AU I5E TS HI gEARU™ JoEdr ?
A AT TR
A S W
£. @8 @A
e TREAN YHYE gaHH
Fhedh Ho fyum/fun s ama 7
(1) A%ER (2) A ot B %
(3) A, Baf D (4) A, Banfr C
High rate of consumption of fossil fuel resulted in which effects ?
A. Acid rain
B. Ozone depletion
C. Clean weather
D. Frequent foggy weather
Which of the statement given above is/are correct ?
(1) Aonly (2) A and B only
(3) A,BandD 4) A,BandC
40. wlae TRUM R S 7 AUEH SEEE SV HO TROTEHES AR ?
A, 7 elaemel exfRicta war 339 @i Th auHaTe SuT TR,
B sharerdiel I T aT GAHEIG U el ST ST WITERE! 3.
C, Huf¥rdrsn e IwrRdaHia ST arefavarETdt giargren AT el .
. gl sRemiR T IeER BT,
Feth FR fyum/fum st sma ¢
(1) A %ad 2) AN B®E (3) A, BT D 44} A, B,CafiD

What is green house effect ? And what are the reasons for climate change ?

A. It is warming effect found in green house by allowing solar radiation to
pass in.

B. Green house warm up is similar to the inside of car parked in the sun
for an hour.

C. Green houses are used for growing tropical plants in temperate areas.

D. Green house effects causes warmer nights.

Which of the statement given is/are correct ?

(1) Aonly (2) AandBonly (3) A, BandD 4 A,B,CandD
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Read the following passage carefully and answer the Q. No. 41 to Q. No. 48.

On top of nuclear war, in the coming decades humankin ill face a new
existential threat that hardly registered on the_politic in 1964): ecological

collapse. Humans are destabilising the global biosphere on multiple fronts, We are
taking more and more resources out of the environment, while pumping back into it
enormous quantities of waste and poison, thereby changing the composition of the
soil, the water and the atmosphere.

We are hardly even aware of thin which we disrupt the delicate
ecological balance that has been shaped over millions of years. Consider, for example,
the use of phosphorus as a fertiliser. In small quantities it is an essential nutrient for
the growth of plants. But in excessive amounts it becomes toxic. Modern industrial
farming is based on artificially fertilising the fields with plenty of phosphorus, but
the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might
thus inadvertently kill fish in the Gulf of Mexico.

As a result of such activities, habitats are degraded, animals and plants are
becoming extinct, and entire ecosystems such as the Australian Great Barrier Reef
and the Amazon rainforest might be destroyed. For thousands of years Homo sapiens
behaved as an ecological serial killer; now it is morphing into an ecological mass

murderer. If we continue with our present course it will cause not just the

of a large percentage of all life forms, but it might also sap the foundations of human
“civilisation.

Most threatening of all is the prospect of climate change. Humans have been
around for hundreds of thousands of years, and have survived numerous ice ages
and warm spells. However, agriculture, cities and complex societies have existed
for no more than 10,000 years. During this period, known as th Earth’s
climate has been relatively stable. Any deviation from Holocene standards will present
human societies with enormous challenges they never encountered before. It will be
like conducting an open-ended experiment on billions of human guinea pigs. Even if
human civilisation eventually adapts to the new conditions, who knows how many
victims might perish in the process of adaptation.

41. Which threat was not recognized by global politicians during the second half
of the 20th Century ?

(1) Nuclear war threat

(2) Ecological destruction

(3) Threat of degradation of human life
(4) None of the above
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42. What is the reason of destructive effects on sea life, according to the passage ?
(1) Use of artificial nutrients
(2) Over use of natural resources

(3) Excessive use of phosphorus in farming that gets washed into sea, rivers
and make them toxic

(4) Nuclear Testing

43. Which of the following statements are true in the context of the given passage ?
a. Human beings fully know that they are causing ecological imbalance
_¥. During Holocene period, climate was stable
2 Modern industrial farming is based on overuse of phosphorus

q\. Amazon rain forest will not get destroyed irrespective of man’s
disruptive activities
(1) aandb (2) bandd (3) bandc (4) onlyb

44. Match the following.
A B

a. exist I. be faced with
b. enormous - II. large number of something
c. encounter III. complete destruction
d. annihilation IV. survive
e. myriad V. extremely large
a b c d e
(1) I I m 1 v
(2) mr 1II I vV Vv

L) IV V1 I I
4 1 m v I V

45. Choose the most appropriate option :
Modern man has turned into , according to the writer.

) guinea pig to do experiment on
(2) an ecological mass murderer
(3) an ecological serial killer
(/41« both an ecological serial killer and mass murderer
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oo I ATYA WL . 46 A V. . 50 Im .
“sraTegIa aRtee”
vt fbesem ardiaid] 23 m AfRwa A 25 W) Afewm ZoAE AIEA AEEE IR, fEE
AW Lm&f%\auumm:mm@mf#mnmmgéﬂmﬁzﬁm

VTR 3L 30 3 I A 30 30 2furgwrean ZA oA A i
m.mmmmmmw@ﬁaommﬁsojﬁﬂmmmmwﬁ.m

mmmmmmmm.m@mwmm
yoe M Paaen swar ska. yare gata Jw Fww fyggarEs A@ed, 39 qmEaE e
e e s, TS e (e wERan affem fr) e st
T TE NIUS! TRUIS Futs A wimardt 18 3t afcam e it aweTEE 93 avarE Jufegd
¥ ® .

ﬁﬁmmmmmmmmﬁﬁ%
WRR ST IS A FIAe IEd. R b AT ST a1e $_sdd S g UE 9o
mmmﬁwmmmwm@mmw
mmmlazmmqﬂw@mmm@@mmm
TR TEFRRTORS e 0T e SRR I I e WelTes feabieht a1E SR ST e
(6% TEH) IS A TRV SRS (19°C & 27°C) sHje e 3w qroft fresq & gt s
W= T ARG I SETETR (20°C F 28°C) ST e FTEA TRt Fmfor grret .
Frforarea asE WIwgd T8 A frsf vare Wik wemTde fagagda I yaween awa
mmmmmmmmmm@mm
A fegdia fmior seie 3.
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Read the following passage and answer the questions 46 to 50.
“Coral Reef Ecosystem”

Coral require temperatures between 23°C to 25°C for their growth. The minimum
temperature must not go below 18°C. This temperature requirement restricts their
growth to tropical waters between 30° N and 30° S latitudes away from cold water
currents. The diversity of coral reefs decrease in higher latitudes to about 30° N and
30° S latitudes. North or South of this zone, coral growth does not occur. However,
corals lying in the path of northward moving warm water are an exception to this
rule. The largest concentration occurs near the equator where water temperatures
are highest. The main obstacle to coral growth in low latitudes along the east coast
of oceans (west coast of continents) is the presence of cool water with a temperature

lower than 18°C for at least part of the year.

The exceptional occurrence of small reefs on the north eastern side of the pearl
islands, Gulf of Panama results from a local absence of upwelling, whereas on the
South western side coral growth is inhibited by cool upwelling caused by north easterly
trade winds. Coral growth is locally hindered by summer cool upwelling in parts of
the Somalian coast.

Between the Persian Gulf and the Gulf of Agaba the difference in coral growth
is due to the Shamal, a cold north westerly wind blowing in winter over the northern
part of the Persian Gulf so that temperature in that area is lowered to 15°C and
sometimes to even 13.2°C on the Kuwait reefs. At high latitudes, such as Lord Howe
Island, reef growth results from the East Australian warm current which flows from
the coral sea to the Southern ocean; the Bermuda receive warm water flowing along
the right hand side of the Gulf stream (19°C to 27°C); Southern Japanese Islands are
favoured by the warm Kuroshio current (20°C - 28°C). The exceptional occurrence of
Houtman’s Abrolhas, western Australia results from Leeuwin current which flows

pole wards along this coast and carries warm equatorial pacific water around north

west Australia.
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46. GrEle Y Foreh e R yare fhewen adard At sage s 7
(1) a99E 10° /A 23° A T0AA

A2) ammE 23° 8 @ 25° @ q0AW
(3) aMUEE 25° @ A 30° | AN
(4) 99 0° R A 10° A TN
Which of the following temperature conditions is the most favourable for
the growth of coral ?
(1) Temperatures between 10°C to 23°C
(2) Temperatures between 23°C to 25°C
(3) Temperatures between 25°C to 30°C

(4) Temperatures between 0°C to 10°C

47. VG UfRm fFaenTa Yot wewE A s fogg A a8 R
(1) Gsre uftaw fFr=arerma wfiq yaTE aTea IS
(2) T T JAMAY SUH TR YaTS e i reys! i waa
(3) Ger= uftew ferr=argm fagaadta s YR ATEdl
(4 O« ¥ T
Along the west coast of continents coral reef formations are not observed because

(1) Prevalence of cool ocean currents flowing along the west coast of

continents

(2) The north-east and south-east trade winds create obstacles in the coral

formation

(3) The equatorial warm current starts from the western coast of the continents

(4) None of the above
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48. T Wit &) B W VAT W smaree g R e s 7
o il =R ¥
R g werE
%, famm smam
3. "amfeea
(1) w& 3 9« (2) @ W 7N H
(3) wE ¥ o+ (4) & F A B

Which of the following are the exceptional occurrences of coral reefs in
the world ?

a. Lord Howe Island

b. Houtman's Abrolhas

c¢. Gulf of Guinea

d. Somalian coast

(1) Onlyaandb (2) Onlybandc

(3) Onlyaandc (4) Onlycandd
49. TS R WA Fo15 TSHIA PV Haiftreh e ?
(1) Freageha awrdt wma (2) FHGUETAAT GO W
(3) InfRéw FarerTa=n PRt wIT (4) unfiEn Sfeada qudt wrma
In which part of the world the largest concentration of coral reef occurs ?
(1) Near the equatorial waters (2) Near the tropic of cancer
(3) Near the Arctic circle (4) In the temperate region

50. Greld ¥ FIUET Heh TaTe Fhehi=an Tidiell HRUME 38 ?
) WIR JE EE
(2) PR JA™ JETEA
(3) UIR JT™ TBHETE

(4) SNfOFERETEF YaE

Which of the following factor is responsible for low coral growth ?
(1) Downwelling of sea water

(2) Upwelling of sea water

(3) Under current of sea water

(4) Thermohaline current

Wosgl HIUTHTS! AT / SPACE FOR ROUGH WORK



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

41 R17

81. T& ¥ Yorrefia, ‘hope to see you’ o1 &4 ‘ re so na di’ 3@l 3R, ‘please cg'_r?e to Ao

A
(@)

3)

4)

* !\?Lec t}g party’ = ﬁh,‘ﬁ'gc’hg ¢ ke zg* 3@ 3R, ‘hope to come’ 91 @& ‘di so ge’
- Lo .
3| AR M ‘see you the party’ €1 G ‘re fi zo na’ 31 T,

w1 o snamg ‘please see you W) e watai s wba fram,

k )
¢ tegm m\, jo &ez \Ou Ye Sfémgr
/

e - FSN
te ba ke f.f/

N
su te ba ce® yott ~ ~E Q_@G“ '52’

ba od ke

In a certain code language, ‘hope to see you’is coded as ‘ re so na di’, ‘please

come to see the party’is coded as ‘fi ge na di ke zo’, ‘hope to come’ is coded

as di so ge’ and ‘see you the party’ is coded as ‘re fi zo na’.

Study the coding system used and select the appropriate code for ‘please see you’.

(1) ke tegm

(2) ba od ke

(3) te ba ke

(4) suteba
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52. Jurehe fravh w1¢ s, e ANES T Ui § w1 Agd Rl TR e 3.
N R @ frerh T @ Ruond g Ref sma. @i B, G, R 3 Y pigwa e, R,
a1t anfor R o wReRa @, Reen wafaiga @ e garh se fequm/& e g/
R faw.

(1) $ha (2) qmbﬁmc
AB) @RdfFe (4) ®®e

Study the below triangular card. It is folded along lines and joined to make
a pyramid. Given below are top views of this pyramid. Alphabets B, G, R and
Y represent colours blue, green, red and yellow respectively. Select the odd

top view/s of this pyramid from given options.

G
R
B Y
e
(1) Only a Elther borc
(3) Eitherdore (4) Only e
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o O\
mmmmmmim Jra orvka W AAen @ /e U =wes e,
AR, IR 3 AR IR wTE A D ayE gd gger I @t Seam, o A
W e @ weram anftn A wyEr d g dnfe AEgATed w1 d e dtear. i

v
@A : R A W AFNA wGA A wen ntvasas Jwd aft wwn fmen sman, @ h w

I\mh.a’tfh;rtm.
J WV
ﬁ:ﬂmmmm.ﬁmﬁw.

N : W www fwen. @) A agErEn weE T
7 s

s Freden s e som vt fas.
(1) =
(2) @

A
(4) A P N T A THElET TvE S
Mo, To and Vo who belong to three different communities, participated in
a dancing competition and one of them won the trophy. They belong to
communities namely Koki, Poki and Toki. All members of Koki community
always make true statements, all members of Poki community always make
untrue statements and all members of Toki community always make true
and untrue statements alternatively. They made following statements when
reporter asked them to comment.

Mo : If Vo had not disturbed me by laughing loudly while dancing I would
have won the trophy. Vo always speaks the truth. Vo is the winner.

Vo : I was not laughing to disturb Mo. To won the trophy.
To : Mo won the trophy. Vo is not the member of Poki community.
Select the option that indicates the person who won the trophy.

(1) Mo
(2) Vo
(3) To
(4) To and Mo have jointly won the trophy
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B4. TW XwThE SUATITSA UH MR (STt amva e mmmmiinﬁmm
IR WO A9 AR TSAR AAFAA ZHAEITEN JTe A SR o A e @
W HAUR TR HAA, I, vy dvwn amdtn #rda, e o 2 A
IR A WA WHE Wl wT gu=n A i weAraia e sfaswaen frm awen
M. iy AETAR gEwER A am waera faeg e A, @ amm Fr = e
3w Mk A wen wdE m AremaEdd A afasw 3@, A 2 = i s gE
dm.
mmuﬂag@mmﬂam@mwmﬁm.
(1) wag ymmR R &t e aH sam 39 v w1 wor=n giEn =EaEE W

= qum Al
(2) WEATEN HIIW STEETATHEA RV F BV §eT9e HOGTETS) AT AT AT
= P vee e am
(3) TS A W TR FeTee FvarEn gl M w1, IR TEAAA T gSArR
A\

(4) e af, T RO FOA T WA ARG F ATV WA AR, A AT
* U ST e

A group of traders in a certain country has decided to take their whole taluka
‘offshore’ in protest at the insignificant amounts of income tax paid by big
businesses. An association of shopkeepers from the town want to use the
same controversial loopholes favoured by huge multinationals so that they
too can legally avoid this tax. One giant multinational, for example, has been
branded immoral for transferring profits out of the country and into the other
countries, where they receive favourable tax deals. But the shopkeepers of
the town cannot have it both ways. If they believe it is immoral for these
multinationals to avoid country tax, it is immoral for them, too. They should
continue to pay country tax in full.

Select one of the following, that if true, most weakens the above argument.
(1) Small businesses acting alone cannot obtain the same tax breaks as the

giant corporations

(2) The only purpose of the protest is to pressure the government into tackling
tax avoidance by big business

(3) Every time the government comes up with a way of tackling tax avoidance,
lawyers simply find a new loophole

(4) One of the town traders found that last year he paid seven times more
corporation tax than one multinational company
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c. defivl wroremn frereateht s whan quf 7 wom=me 5 1 3 I I
g el wreten frameatd s el frareatan 4 ;13 I am.
(1) a,b
(2) b,c
(3) a,d

4) b,d

Identify two facts that prove conclusion : ‘Ten students failed the exam’ to be

always true.

Facts :

a. 40 students passed the exam.

b. 10 students did not complete the exam and so neither passed nor
failed.

c. Number of students who failed outnumbered those who did not complete

exam by 5: 1.

d. Number of students who passed outnumbered those who failed by 4 : 1.

(1) a,b
(2 b,c

3) ad
4) b, d
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Select the appropriate image for replacing the question mark in given
relationship.

..l ?

(1) 2 (3 3) |HN 4 N
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57. TUEE 3EA 91 @A § SEEEE S e S Sva o). T4 NS AR gl

Pﬁ?ﬂﬁhﬂﬂﬂﬂ go — 2-©

‘TAEH e 80% i (e srwvare jqazn%aﬁ afer “mere 80% e
TS TaTd T SFHUITAT SN JaqH

s SRR SR T she w TR B

(1) ¥5F 20% 3}

(2) AWH 5%

(3) 20% & IRA

(4) AH 25%

A referendum was held in the village Nimboli, to determine whether it should
have a library or not. All adult members could vote; all of them either voted in
favour of having library or voted against it, or did not vote at all.

According to the local newspapers :

‘80% of those who voted, voted in favour of having a library’ and ‘80% of the
adult members of the village did not vote for having library in village’.

Select percentage of the adult members of the village voted against having a
library.

(1) Exactly 20%

(2) Exactly 5%

(3) More than 20%

(4) Exactly 25%
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(1) ITTa J&IA: dige, W, FHeg I, T, I I TUEN FHOMT Sfequ WRAHT 3
Y= GHETE] T8 8 ATE.

(2) QI TR NN FSA T I -SAaAa, Eh, FieT } wRAEIEd FER TEET g9¢h

7 oo e A @ aomdt snassridie Sushie Siq &l @S STassTe Sfird
AT FTEd I B ekl FEm 3.

(3) v faferars v I =R s sudieaT e tdesITd A y=AfRAT g ATé
R SITA TG MYAL AULUR 18} 389 e =1 @ AT,

(4) SO, =T, T, Al Feg e uiRireaT sieiy weu, ad, g, WM, T,
w,m,wmwmmm@mmm.

Rala (Italian Millet), Sava (Little Millet), Harik (Vargu), Varai (Barnyard Millet) are
rich in amino acids, fatty acids and other vitamins. They contain minerals that are
iron, calcium, magnesium, phosphorus and potassium. These food components
assist in the functioning of hormones in the body. The amount of glucose and
insulin produced in the body is controlled by them. Since their digestion is slow,
they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system.

Its phytochemicals reduce the risk of cancer. Blood cholesterol is reduced. Whole

grains provide 12.5% more protein than wheat. Sava is used in liver disorders.

Since millets are gluten-free, they can be consumed by people with gluten

intolerance. In short, whole grains are useful for body health due to various

characteristics.

Shoose the one most reasonable fact that would weaken the above argument

if true.

(1) South Indians whose food mainly consists of rice, nachani, kuttu chana,
tur, udad do not suffer from digestive problems.

(2) Ifwheatis completely excluded from food, the person does not get B-vitamins,
zinc, bran, which are important elements along with gluten, and as a result,
the beneficial bacteria in the intestines are depleted and the immunity of
the intestine increases unbridled and rarely invites cancer.

(3) People with congenital celiac sprue cannot digest gluten in their small
intestine, so they have to eat foods where gluten is not detectable.

(4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs,
vegetables, fruits etc. are consumed along with jowar, bajri, rajgira,
nachani, kuttu grains.
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Eﬁ‘ﬁ" (M)wmmmmgmwm (SD) g mmﬁqﬁﬂ
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(1) SD T FeuTh At Meafe 3 G geen o R - 3iis TR .
(2) SD =g FEvTht Avarend e ot Foy Geen an e g -t TR .
(3) Tt - 3N TRTRAT SD w7 et FvaETd! Miedted Fo .
(4) wrét E-aniis TR SD 97 gevnft BvarEd Meafid Fere .
There are security experts, as well as ex-fraudsters, who are experts in artificial

intelligence (Al). All people who are experts in Al are invited to join the team
of security designers (SD) by one organization.

Select one of the following that can be logically inferred based on the
statements above.

(1) All who are encouraged to join the SD team are security experts or
ex-fraudsters.

(2) Some who are encouraged to join the SD team are not security experts 9
or ex-fraudsters. 7§ a3 I
(3) Some ex-fraudsters are encouraged to join the SD team. w

(4) Some ex-fraudsters are not encouraged to join SD team. 3

60. fir, Sfar 7 BrE 7 w1 W agaamé1ftwm‘!!,ﬁanﬂ,#ﬁmmcxzs A w
ErEeT 75 ¥ . — <
T WA quifum wat fer, <
(1) 700 (2) 600 (3) 550 (4) 450
Mina, Jiva and Faru share out a certain sum of money between them. Mina
receives 5/8, Jiva receives 0.25 and Faru receives Rs. 75.
Select options that indicates the original amount.
(1) 700 (2) 600 (3) 550 (4) 450

Q61 117 TG (26 WIS i WG Fel 3 MRS A1 HEAIS e drareh
15 d 16 Inft aeeh. ar Aigae @a:= @l 20 wdd Auvamard & A sEm e
9%~ qrat FEEH Bt T GRIAVI YA e
%176 (2) 200 (3) 220 (4) 70
ile playing 11" match, a batsman is out for 26 runs, which raises his
batting average for the season from 15 to 16. Select the number of runs that he
should have scored in this inning to raise his average to 20 in this season.

(1) 176 (2) 200 (3) 220 4) 70
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(1) 180 Az 42) 190 ¥se (3) 200 &g (4) 210 ¥
Ayesha beat Daya by 50 meters or 10 seconds in a kilometer race. Select the

option that indicates time taken by Ayesha to complete the race.

(1) 180 seconds (2) 190 seconds (3) 200 seconds (4) 210 seconds

63. TH mmwmmwmmw%,
QE, qua NfT sy FA T TEAVEA WA T HIaI Jeraereh aqaet
N JewiET SHERR Fiaed )

a. T v faemf, s snft wfer=riETd qEdEE Y@ gom e weRt

¥ ameaty weei wen sfvar am.

J et siféwss, siqarqel awni wmEn e ann v A Wity awren aed @d
faamefi, srengs 9 wdE=TEE Pafiaon sreR IS FaEt.

¥4 Tald GHFAS) MTEA1 SFGUITEIE =T 9 qUR Ferelt 99T, TER, WISt S

d. IR TAS w&Awren aten eyt Aerdefiar e FO v @ TEE

(1) a,b 2) b,c 3) ¢, d (4) b,d

A Director of educational institution claims : ‘instead of celebrating one day as
Republic Day, we constantly practice the ideals that made India a sovereign
republic by guarantying the pledge of justice, liberty, equality and fraternity’.
Choose two facts that support the claim.

Facts :

a. Itis compulsory for all students, faculty and staff of the institution to watch
televised display of military might of the country.

b. We conduct regular workshops for all students, faculty and staff with the
help of peace experts to deal with the hatred in a non-violent and peaceful
way.

c. We strictly implement the rules of dress, food, language and behavior
towards others, which are formulated by our organization to inculcate
spirit of equality among all.

d. We have integrated activities that nurture the value ‘empathy’ into regular
learning activities to enable everyone in the organization to respect the
diverse lifestyles of others.

(1) ab (2) b,c 3) ¢, d 4) b, d
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(3)

Study transparent sheet ‘A’ and select its fold from given options.

\Vay,
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QRO TR, " ‘a’ S A IR, ‘e’ W TS 2fhor i S o <A SR
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(1) ‘a’ M R 7GR ‘e’ wA=aT=m Sfien anRa.

(2) ‘e’ T T ‘a’ == uRie IR,

(3) ‘a’ TN E ‘c’ WANAT=AT WiAHE IR,

A4T TN SETEde FEid qEer e,

In a housing colony, there are seven towers a, b, c,d, e, fand g. ‘@’ and Pare 7
to the south of ‘d’ and ‘g’ and 1’ is to the east of ‘a’. Tower ‘e’ is to the north

of ‘c’ that is situated near the south end boundary of the colony and to the

west of b’. There are only two towers ‘g’ and {’, to the east of ‘c’.

Select the statement that is always true with respect to given information.

(1) Towers ‘a’ and ‘’ are situated to the south of tower ‘e’.

(2) Tower ‘€’ must be to the west of tower ‘a’.

(3) Tower ‘a’ must be to the west of tower ‘c’.

(4) Tower f’ must be to the far east of the colony.
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Nanu wants to create a rectangular pond in his field. He has not yet decided on
the exact dimensions, but its length will be twice its width and will be between
2 metres and 6 metres inclusive. There will also be a strip of concrete of width
0.5 metres around the edges of the pond, as illustrated in below diagram which
is not to the scale.

Select the graph that best represents relation between the surface area of the
pond and the area of the concrete edge vary with the length of the pond.

[

E po “-E- po "E po E po
1) ¢ 2) ¢ 3 4) §
) g %m()s /0”3 %()2 %m
0 2 a4 6 0 2 4 6% 0 2 4 67 0 2 3 ¢
Length (m) Length (m) . Length (m) Length (m)
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(1 o 2) 2

3) 3 4 5

My local park has a network of paths linking various locations, as shown in the
below image. The stars on the map represent five of the park’s landmarks : the
fountain, lake, music gallery, sculpture and play centre.

I often vary my routes and I do not always take the shortest route from one
place to another while walking around the garden. I have noticed that when I
go from the sculpture to the fountain, I always pass the music gallery, but that
going from the lake to the play centre, I never pass the fountain unless I pass
the music gallery twice.

Select the number of stars on the diagram that can be identified from the given

information.
E3
(1) o (2) 2
(3) 3 4) S
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<
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2
Select the logigal number for empty box in the following arrangement.

24 29 26

27 22 31

30 28

(1) 31 (2) 39 (3) 29 4) 33

69. B 7Y Y% "o A Y U TR, C WHfiet e Hewh A 7Y a7gd. D wHfiel T uewh C OY 37Rd
w1 D i G T A T T, A SR g A6 o e e 2
(1) C i 1 g2 B 79 34
AZ) B utie 53% e C 7Y Aled
(3) A utid Y% Ues B JHual C Y 3R

(4 Cudid Y% 9T A 7Y AR
: <
Every element of B is an element of A. Some elements of C are elements of A.

Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

(1) Some element of C is in B

(2) Every element of Bis in C

(3) Every element of A is either in B orin C

(4) Every element of Cisin A
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(1) 63

(2) 69

3) 71

A 74

1 day 2 day

Adult T12 T 20
Child Z9 T 15
Concession* T7 14 -
*Under 12 or over 55

Das family members : husband, wife, two children : ages 7and 13, and mother
of wife who is in her sixties, are going to the science park programme this
weekend. The parents will attend both days with the elder child but Mrs. Das’s
mother and the younger child will spend one day visiting relatives. Ticket
prices are listed in below table.

Select the amount spent by the Das family if they buy the cheapest tickets.

(1) 63
(2) 69
3) 71
4) 74

We FHTATS! AT / SPACE FOR ROUGH WORK

P10,


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

71.

7 GET IT ON
Google Play

56 R17

20 Wi sty Fan Feh MR, TAF waren A9 iwta gatg . Reed 76 waATie
e wifuss wain 3w uaren faareaten v smom=n qetsh T fae.

(1) 320 (2) 320 (3) 318 (4) 317

A question paper consist of 20 questions. There are 2 options for each question.
Select the number of ways it is possible for a student to attempt one or more

questions of the all given questions.
(1) 320-1 (2) 320 (3) 318 (4) 317

-3

. HTen SorETd f} g dree e wEwe v 8 A 27 fufae € 3@ greed #h. wh was

F= am 1 MR seErh e ®EE A EeEes Feh ', foaa smeen q@m
I3 gala Ag39 uy Paen,

(1) "en wh 38 fAfR ama 42] @Eren 17.75 fafwe amea

(3) mmmfﬂﬁ%ﬁaxr&a (4) @& anE 27 fufe sreh smRa

When [ left for work, the watch was showing a time 8 hrs and 27 minutes
exactly. The position of the hour hand and minute hand of this watch is
exactly interchanged when I was back home. Select the option that is closest

to new time displayed.
(1) Exactly 33 minutes to six (2) 17.75 minutes to six

(3) 27 minutes to six (4) 27 minutes past six

73.

S 3, i, faten anfor s SefgER W v TEaE e, st wei I swem
feeht ft @ = famn fog=n T 39, qenfy Sea1 @0 FEHER 32 TR A1 31 Had @wE
FEM gfgeht Mt e @ famn gafa Y9es wF 9. &1 SR WA SEAT gE=T I 3.
famren @R smund foeamien T wEE Syt Fae

(1) s (2) fasm (3) (4) 3T

When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being
the shortest stands first while Bina comes to the third position. However,
when they stand by age, Anna being younger stands first while Bina occupies
extreme rear position. In both rows Diana remains at the second position.
Select the person who is immediate younger than Bina.

(1) Diana (2) Ciona (3) Bina (4) Anna
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74. ¥R X =0 @A &% angrn anf fverar de o aow e Tgeen g e

(]

4|
) (—k

1S
A4) C

Study the logic used for constructing image X. Identify option which cannot
be constructed along with dots using similar logic.

A\
CD

X

N

-
@) ( g

R
(4) C
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(4) F& A @a.an fTwe @a: 9 e a9 Wiy giagren gieoften
YR FA T HrE a01 fage glawn 9 & gfawn w7 @a:= a=a s@an.

Upanishads carry a weighty fable. Virochana, ruler of the Asuras and Indra,
Lord of the Suras, both once went to Brahma and asked him about God. They
were told to look in the mirror. Looking at his reflection Virochana instantly
concluded that he is God; Indra while looking at his reflection and spending
longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some
persons measure their worth by all that they can uplift and divinise. The
difference is nothing less than that between an egocentric existence, engulfed
in its own gains, unhesitant to exploit, and an expansive one that is creative in
the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

(1) IfVirochana had thought carefully while looking at the self-image, he would
have realized the truth. .

(2) To see one’s own reflection is to discover one’s own characteristics.

(3) Persons who are egotistical, selfish and involved in exploiting others for
that purpose live as ‘Asuras’, while those who deal with all others with open
mind using their own creativity and assist them in their own upliftment
and deification live as ‘Suras’.

(4) Some people measure their own development by the amount and material
facilities that they consume, while others measure their worth by uplifting
others by providing abundant facilities and divine pleasures.
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Decision making and problem solving questions no. 76-80.

76. TS A Franrs fvmmega war=mh T srERen Tl T SEE gF S e g
an R wamiie amera. merd wd vkt stwenfea qof e anfor sevEe = wnewEaE
TR 3 T Fn AR, I HIE HEA WA FAest 7 wrarn que wedht seen ). anfaeEne
wEERE g Avm JHEE R 91 vt g qur=n S araedieed At e
e Ff AR, ' W Freeht v et Hven st g fag w2
(1) wia Siorerdt @y afymrh anan Fom T oft smm weE, aue e

FIATE TRES HUFTIT Tt Saht TEHT LomETdt HAUTh He.
2 HIRATEISE T[AEvE FUH 96 I 7 UTAad] e §E HdrErdt qrvft Heret
& . :
7ﬁ(3) WL W96 A 7 <a1 disavdmardt gae T Sisis 3had 9 amad.
‘[g) HT THIE WA TS Framomer fpedt Feras Sraen simat It wnfedt fresavamad
wEren et srfier seiwcish qusdh g,

You are working for setting up a new business venture that requires a license
from State government regulatory department. You have submitted the
application for this purpose after fulfilling all the procedural formalities and the
required documents. Months have passed after submitting the application but
you are yet to get license. This delay is causing loss of business opportunity
than the amount demanded by a chain of persons working in the department for
granting the license. Which way would you choose for sorting out this problem
from following options ?

(1) Patiently try to convince any senior officer in the department for granting
the license as early as possible hoping that he might not expect illegal
gratification.

(2) For starting the business without wasting the time you will pay the
demanded amount as business investment.

(3) Use your contacts with any political worker to get the issue of license settled
without paying bribe.

(4) Contact some RTI activist to get information about the time frame in which
such license are required to be issued.
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You are working as a head in the department that allots government quarters
to the employees as per the norms set up by the authorities. A group of persons
approaches to your reporting senior with the request that a particular person
should not be allotted quarter in their building, because the concerned person
is from the reserved category. Your senior suggests indirectly to accept their
request but at the same time also warns that you will be solely responsible
for the consequence of the concerned decision. Your promotion is due in next
few months. Which one of the following course of actions is your choice in this

situation ? .

(1) Since your promotion is due in next few months. You are left with no other
choice but to accept suggestion given by your senior officer.

(2) Allot the quarter to the concerned employee as per rules and alert the
person about the situation in which you have taken the decision about
allotment.

(3) Narrate this situation to concerned employee and request her to wait till
you get promotion.

(4) Not take any action and keep on requesting the person that she has to wait
for some more time.
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Your colleague who was heading a project is suffering from some ailment

and cannot continue with it at least for next two months. The administrative

head of the department requested you to head this project in addition to your

present work. Since you are expected to complete your assignment and this

project within stipulated time, it will demand you to invest more time and

energy. What will be your response to this from the options given below ?

(1) Since your present assignment is keeping you completely occupied, it is
not possible for you to accept this additional work.

(2) Suggest the name of another colleague stating that she is more competent
for this work and her present workload is not heavy as yours.

(3) Accept the additional work without any argument as timely completion of
the project is necessary.

(4) You will accept the additional responsibility only if some manpower is
provided at least for some routine work.
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You are a freelancing journalist. Recently you read a novel based on documented
sufferings and exodus of people of minority tribe from certain region that
happened more than two decades ago. You are from this minority tribe. You are
very well acquainted with the realities of the exodus and the hardship faced by
people of both the tribes. In your opinion the author has used her writing skills
to emphasize how cruel were the victimizers towards your tribe. Thus novel has
succeeded in getting sufferings of your tribe acknowledged by people from larger
society. But you know that this is only the half-truth and it is agonizing you.
You will write articles to be published in different media to present. -

(1) the position of the victims as sharply distinct from and as opposed to those
of their victimizers using selected authentic documents and gain empathy
from society at large with propagation stance.

(2) fact that though minority tribe got displaced, all misplaced, majority tribe
members were not perpetrators and both tribes were misguided by their
narrow minded leaders by using evidences of selected documents.

(3) fact that victimizers were also victims of daily hardship, tragedy, and
hopelessness along with the loss of rights and respect by using selected
documents.

(4) the reality by documenting how members of these two tribes are defining
themselves in relation to their respective narratives of victimhood after long
period of more than two decades for avoiding insurgence of hatred.
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As the education officer you are a member of the committee constituted for
interviewing teachers shortlisted for awards from the district. You are analyzing
their documents related to teaching learning processes and its impact on
learners’ personal and social development. As you are going through these
documents you are designing probing questions related to their work. You
came across a heavy file of technology savvy person but you did not find single
documentation of teaching learning process and its impact on the concerned
group of learners. For example, this teacher has written about how he delivered
e-self-learning material for learning poem Daffodils. You will ask him...
(1) With what purpose did you design e-self-learning material and how did
you test outcome of this learning ?
(2) You must have learned many poems during your school and college
education. What purpose did this poem learning served in your personal
and professional life ?
(3) Apart from reading and listening what other activities or experiences did
you design to make learners their ‘learning visible’ ?

(4) What activities did you design to examine ‘impact of learning’ this poem
on learners ?
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